
MATEMÁTICAS 3º ESO – NÚMEROS 

 

 

 
SOLUCIONES  -  SUCESIONES 

 

1. a) 5/3,6/4,7/5,8/6,… 
 

      b) 2, 4, 8, 16,… 
 

      c) 2, 1, 2/3, 1/2,… 
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2. an = (2n-1)(2n+2) 10.  f . g = 6,28, 80, 224,… 

3.  1n

n
1n

n
7

2
)1(a



  
11.  -2/3, 9/8, -8/5, 25/12, -18/7, 49/16,… 
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12.  a) monótona creciente 
 

        b) monótona decreciente 
 

        c) oscilante 
 

5. 
3n

n
a

2

2

n


 ;  
403

400
a20   

  

13.  -1, 2, -3, 4, -5, 6,… 

Suma 0, 0,  0, 0,  0,  0, …. 

 

6. n = 12, lugar 12º 
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15.   a) n = 11, lugar 11º 
 

        b) n = 3,  lugar 3º   

8. a2325= 1 

 


